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:مثال
بالاتریناز2kgجرمبهجسمیزیرشکلدر

رهاهاولیسرعتبدونشیبدارسطحینقطه
یرمسطولدراصطکاکنیرویاگر.شودمی

4N،رسیدنیلحظهدرجسمسرعتباشد
(sin37=0.6)است؟چقدرسطحپایینبه
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:مثال
CینقطهدرBCافقیمسیرطیازپسولغزیدهپایینبهرواولیهسرعتبدونAازنقطه2kgجرمبهجسمی

است؟ژولچندBCمسیردراصطکاکنیرویکار.استناچیزABقسمتدراصطکاک.شودمیمتوقف
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:مثال
انرژیازدرصد40.شودمیپرتاببالاسمتبهقائمراستایدر20m/sاولیهسرعتبازمینسطحازایگلوله
است؟مترچندhکنیدمشخص.رسدمیhارتفاعبهوشدهتلفگلولهیاولیه

:حل
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:تمرین
اگر.لغزدمیپایینسمتبه6m/sسرعتباAنقطهاز1.5kgجرمبهایگلولهزیرشکلمطابق
ارتفاعباشد،18J-مسیرطولدراصطکاکنیرویکارو4m/sبرابرBینقطهدرگلولهسرعت

.کنیدمحاسبهرازمینسطحازBینقطه
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نهاییوهاولیهایموقعیتبهفقطوبودهجسمحرکتمسیرازمستقلهاآنکارکهنیروهایی

وزننیرویمثل.دارندنامپایستارنیروهایاست،وابستهجسم

مثل.ارنددنامناپایستارنیرویدارد،بستگیجسمحرکتمسیربههاآنکارکهنیروهایی

اصطکاکنیروی
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:مثال

اگر.لغزدمیBبهAینقطهازACBوABمسیردوازافقیسطحروی5kgجرمبهجسمیزیرشکلدر
.استناپایستارنیروییاصطکاکدهیدنشانباشد،10Nاصطکاکنیروی
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